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(i) a = 1  
 
f(0) = 0.5 
f(1) = 0.25 
f(2) = 0.1875 
f(3) = 0.15234375 
f(4) = 0.1291351318359375 
f(5) = 0.11245924956165254 
f(6) = 0.09981216674968249 
f(7) = 0.08984969811841606 
f(8) = 0.08177672986644556 
f(9) = 0.07508929631879595 
f(10) = 0.06945089389714401 
 
 
Seems to converge to one point.  
 
(ii) a = 2.5 
 
f(0) = 0.5 
f(1) = 0.625 
f(2) = 0.5859375 
f(3) = 0.606536865234375 
f(4) = 0.5966247408650815 
f(5) = 0.6016591486318896 
f(6) = 0.5991635437485985 
f(7) = 0.6004164789780495 
f(8) = 0.5997913268741273 
f(9) = 0.6001042277017528 
f(10) = 0.599947858990589 
 
Seems to converge at an orbit of length 2 
 
 
(iii) a = 3.1  
 
f(0) = 0.5 
f(1) = 0.775 
f(2) = 0.5405625000000001 



f(3) = 0.769899519140625 
f(4) = 0.5491781736597441 
f(5) = 0.7675026724300255 
f(6) = 0.5531711927526629 
f(7) = 0.7662357552099034 
f(8) = 0.5552674202082185 
f(9) = 0.7655310880169375 
f(10) = 0.5564290480192784 
 
 
Seems to converge at an orbit of length 2 
 
(iv) a = 3.5 
 
f(0) = 0.5 
f(1) = 0.875 
f(2) = 0.3828125 
f(3) = 0.826934814453125 
f(4) = 0.5008976948447526 
f(5) = 0.87499717950388 
f(6) = 0.3828199037744718 
f(7) = 0.826940887670016 
f(8) = 0.500883795893397 
f(9) = 0.8749972661668659 
f(10) = 0.38281967628581853 
 
Seems to converge at an orbit of length 3 
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